Name __________________________________________________

Quiz #4, Math 116, Spring 2007

1. There are 200 seats to be divided up among three states.  Find the apportionment using Adam’s method.  Use the modified divisor 4.525.

	
	
	Adam’s

	State
	Population
	
	Final

	Xylo
	502
	
	

	Yani
	321
	
	

	Zuza
	77
	
	

	Total
	900
	
	200


2. What is wrong with Webster’s method?  What rules/paradoxes does it violate?

3. Describe Balinski & Young’s impossibility theorem.

4. The standard divisor is calculated by doing what?
